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Guess Paper – 2012
Class – XII
Subject – Mathematics

REVISION EXAM-- (INTEGRALAL CALCULUS)
                                                                      SECTION-A
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12. Sketch the region enclosed between circles x2 + y2 = 1 and x2 + (y – 1)2 = 1.

13. Prove that 
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    13. Solve:
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14. Write order and degree  
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 15.Find the integrating factor: (1 – y²)
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 24. Sketch the area of the region

bounded by line y  = 3x +2, the x-axis and the ordinates   x = -1and x = 1. 25. 
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                                                                SECTION-B
      1.
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14. Solve :
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15. Solve : cos (x + y) dy = dx, y(0) = 0. 16. Solve : x2y dx – (x3 + y3) dy = 0.   17. 
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19. Solve : x (x dy – y dx) = y dx, y(1) = 1  20.
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,if y(1)=1.  26. Form the differential equation representing the family of the ellipses having foci on x-axis and center at origin.       26.
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 29. Solve:
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31. Solve:
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 = y (logy-logx+1)     32.Solve:
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 33. Solve 
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  43. Solve:
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 44.      
                                                                 SECTION-C
1. Using integration, find the area formed by the triangle joining the points  (-1,1), (0,5) and (3,2).

2. Find the ratio of the areas into which curve y² = 6x divides the region bounded   by x² + y² =16.

3. Find the area of smaller region bounded by the ellipse 
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6. Find the area of the region  
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 7. Evaluate 
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8. Find the area bounded by the curves y = x2 +2 and the line x = y, x = 0, and x = 3.
9. Find the area bounded by the curves x2 = 4y and the line x = 4y – 2 
10. Using integration, find the area of the region bounded by the curve y = 1 + │x +1 │, x = -3,  x = 3,  y = 0 
11. Prove:
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 13.Solve: 
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   14.Evaluate as limit of sums: 
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 15. Evaluate:
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16. Solve:  
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17. Evaluate(i)  
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as a limit of sum. 18. Solve: dy/dx + y cot x = 2x + x2  cot x ,  19. Prove:
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